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(1) Fill in the gaps :

(a) The matrix is ……………....

…………………………………

(b) diagonal matrix is

……………………………………………………………………

(c) The row vector is 

……………………………………………………………………(d) The unit ( identity ) matrix is 

……………………………………………………………………(e) The condition of adding two matrices is 

……………………………………………………………………(f) The conditions of equality of two matrices A and B are :

i\ ………………………………

ii\ ……………………………...

(2) If we have the matrix : 

A =  2    3     5     4 



0   -1     6    -2

Then : 

(a) dimension A = 

…………………………………

(b) a23 = ……………………….

(c) a14 = ………………………..

(d) 5a12 – 3a23 

…………………………………

(3) Find the value of x . y and z if we have :

i\  1 – x2       4         -3       4 

     3          3y-2   =   3       1

     1             4          2        4

………………………………………………………………………………………………………

i\   x - y      3          4         3

     x + y     5      =   6        27 – 1

…………………………………………………………………………………………………………………………………………

…………………………………

…………………………………

(4) Find the type of dimension of each of the following matrices :

(a) A =     2    -1      3



3     2       -1



5     0       1

Dim . A = ……………………..

Type A is = ……………………

(b)   B =    -1 



   2



   3

Dim . B = ……………………..

Type B is = ……………………

(c)   C =   0    0   0



0    0    0

Dim . C = ……………………..

Type C is = ……………………

(5) Find the matrix x which satisfy :


2
3

1
-3

X - 
-1
2
=
7
 4    - x 

…………………………………

…………………………………

…………………………………

…………………………………

(6) Suppose that : 


4
9
     5  6
    2
3

A = 

    , B =          C=


3
-2
     2  15
    1
4

i\ Find :

a) A + B 

…………………………………

…………………………………

b) B – C 

…………………………………

…………………………………

c) A – 2B 

…………………………………

…………………………………

d) 2A – ( B + C ) 

…………………………………

…………………………………

…………………………………

ii\ Prove that A + 2B = 7c 

…………………………………

…………………………………

…………………………………

(7) Find the matrix x which satisfy the following equation : 

3A +  1     0       =     -2    3 


   2    1               -1   -2

…………………………………

…………………………………

……………………………………………………………………

…………………………………

(3) Suppose that :



3
-2
5


A =
-1
0
1



4
-3
2

Find :

a) double A 

…………………………………

…………………………………

b) triple A 

…………………………………

…………………………………

c) additive inverse of A 

…………………………………

…………………………………

(9) Write the equation matrices:


x  +  y  =  7


2x – 3 y = 4 

…………………………………

…………………………………

…………………………………

…………………………………
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